HOVIS

Assembly Manual for

Application Models

Dongbu Robot

®
N

z

W

D
Z



Part List for 7DOF Dump truck

X1 prs.o101 X6 RRSO101, X3 BRe; 0001 X33 PrRe-0004 x1 BRE-oott,,
(with Horn) (without Horn)
—
F - - !
: <P
B -
X1 oRe-o007, .. X1 BRejoosT X { °4Rv'1‘. 0728, X1 DBR-0004 ] DRi-ocos x4 Dewcoool

(3,000mA)

ST ET AV @

x52 DRI-0001 x4 DRI-0002  xq7 DRI-0003 3() DRJ-0006 %] DRJ-0011 X7 DRH-1001

L-type Joint L-type Joint L—type Joint I—type Joint Bushing Set Horn (Plastic)
(Single Nut) (Double Nut) (Hole only) (12.5mm, Double Nut)

___111SCALE

~

T
o AN,
o s
L

A

(i

© X4 BRAZ00st X8 BRie%d, 0= x18 e,  0=m X106 BR0%S,

G X2 BRACOOSS X1 oo, Omm X1 BRAcposs; (o X6 BRAQ0S

(BH/T 2.6X8)

X DRA—0003
Harness (100mm)

LI

IT]

X 1 DRA—0006

Harness (200mm)



7DOF Dump truck HOVIS tte

Required Parts

@

DRA-0056
Bolt (PH/M 2.0X4)

DRJ-0001
L-type Joint @
(Single Nut)

.

DRB-0004

Universal Plate

PH/M 2.0x4

1:1 SCALE

4Amm

d@m}mm

PH/M 2.0x4

PH/M 2.0x4

PH/M 2.0X4

PH/M 2.0x4

% Assemble another set in the same manner. (Total 2 sets to be assembled.)



7DOF Dump truck HOVIS “te

Required Parts

DRA-0056
Bolt (PH/M 2.0X4)

DRJ—0003
L-type Joint
(Hole only)

DRI-0004
IR Receiver

PH/M 2.0x4

1:1 SCALE

PH/M 2.0x4

* Dongbu Robot www.dongburobot.com



7DOF Dump truck Hnms e

Required Parts

PH/M 2.0X6

DRS-0101
HerkuleX Servo @

7

DRA-0058
Bolt (PH/M 2.0X6)

o

DRA-0064
Bolt (PH/T 2.0X5) @

Zero points should be
coincided before/after
assembly,

IR Receiver

Assembly %
BH/T 2.6X8 ‘.

PH/M 20X6
DRA-0067
Bolt (BH/T 2.6X8) @

DRH-1001
Horn (Plastic) @

DRJ-0001
L—type Joint @
(Single Nut)

1:1 SCALE

PH/T 20X5

PH/T 2.0X5

PH/T 20X5 3

PH/T 2.0%5
PH/T 2.0X5
8mm ‘

% Attach IR receiver assembly to the servo ID O prior to installing horn and the horn bolt.
% Make sure to follow the assembly sequence in correct order. ERfT e



7DOF Dump truck HOVIS tte

Required Parts

DRS-0101

HerkuleX Servo

DRA-0064
Bolt (PH/T 2.0X5)

1:1 SCALE

‘:)m‘

Om>mm

PH/T 2.0X5

PH/T 2.0X5

PH/T 2.0X5
PH/T 2.0X5

PH/T 2.0X5




Assembly Manual for Application Models of HOVIS Lite Hﬂm S Lite

DRS-0101

HerkuleX Servo

&7

DRA-0058
Bolt (PH/M 2.0X6)

2 <

|F____'TC
W o DRA—0003
PH/M 2.0X6 Harness (100mm)

PH/M 2.0X6
_ Es
=

PH/M 2.0X6

PH/M 2.0X6

% Assemble the servo ID 1 without the horn
and horn bolt attached.



Assembly Manual for Application Models of HOVIS Lite Hﬂm S Lite

DRS-0101

HerkuleX Servo

S

DRA-0058
Bolt (PH/M 2.0X6)

=

DRA-0003

Harness (100mm)

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0X6

¥ Assemble the servo ID 3 without the horn and the horn bolt attached.



7DOF Dump truck

Required Parts

PH/M 2.0X6

PH/M 20X6
PH/M 20X6 DRA-0058

' Bolt (PH/M 2.0X6)

PH/M 2.0X6

DRJ-0001
L-type Joint @
(Single Nut)

DRB-0001 @

DRJ—-0006
I-type Joint

(12.5mm, Double Nut)

2ea

1:1 SCALE

Bmm ‘
(e -

PH/M 2.0X6

% Dongbu Robot www.dongburobot.com



Lit
7DOF Dump truck HOVIS |t

Required Parts

DRA-0056
Bolt (PH/M 2.0X4)

DRA-0058
Bolt (PH/M 20X6)

DRJ-0001
L-type Joint @
(Single Nut)

DRJ-0003
PH/M 2.0X4 L-type Joint
(Hole only)
L-type Joint
(Hole only) .
PH/M 2.0x4 L-type Joint
(Hole only) DRB-0004
Universal Plate
PH/M 2.0X6
PH/M 2.0X6
1:1 SCALE
4mm
[ form
PH/M 2.0x4

Bmm

{ o oo

PH/M 2.0X6




7DOF Dump truck

PH/M 2.0x8

PH/M 2.0X8

Hﬂms Lite

PH/M 2.0x8

PH/M 2.0x8

Required Parts

DRA-0059
Bolt (PH/M 20X8)

DRJ—0001
L-type Joint
(Single Nut)

DRB-0004

Universal Plate

1:1 SCALE

} 8mm ‘

i

PH/M 2.0X8



Assembly Manual for Application Models of HOVIS Lite Hﬂm S Lite

S

DRA-0058
‘ Bott (PH/M 2.0X6)
! i ¥ PH/M20X6
PH/M 2.0X6
<
v IR ’“‘}, S
PH/M 2.0X6

PH/M 2.0X6




Assembly Manual for Application Models of HOVIS Lite Hum S Lite

&7

DRA-0058
Bolt (PH/M 2.0X6)

DRI-0008
PSD Sensor

PH/M 2.0X6 it
PH/M 2.0x6

(o 72r

PH/M 2.0x6




Assembly Manual for Application Models of HOVIS Lite Hﬂw S Lite

PH/M 2.0X6
PH/M 2.0X6

P *
L £tfgt_% S
= - =

: Fg- T _ G, - .

-
_—

|
(i 1=

PH/M 2.0x6




Hnms Lite

7DOF Dump truck

Required Parts

PH/M 2.0X6 F

DRA-0058
Bolt (PH/M 20%0) i

&

DRA-0059
Bot (PH/M 2.0X8) @

DRJ—0001
L—type Joint
(Single Nut)

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0x6

DRB-0004
Universal Plate )
Pay attention to the PH/M 2.0X6
position of the Nut
PH/M 2,06 \
\ PH/M 2.0X6
208 PH/M 2.0X6
o 1:1 SCALE
PH/M 2.0X8
6mm
L
PH/M 2.0x8 @mm},.,,.,

PH/M 2.0X6

8mm

i F

PH/M 2.0x8




7DOF Dump truck Hﬂms Lite

Required Parts

&

DRA-0059
Bolt (PH/M 2.0x8) @

DRJ—-0001
L-type Joint @
(Single Nut)

DRJ-0002
L—type Joint
(Double Nut)

L-type Joint
D8yple Nut)
.

-
.
*

‘- L-type Joint
I (Double Nut) DRB-0004
. Universal Plate
*
Pay attention
to the position
of the Nut .
1:1 SCALE
—
PH/M 2.0X8
PH/M 2.0X8

PH/M 2.0x8

PH/M 2.0X8

PH/M 2.0x8

'
|

(e
e



7DOF Dump truck Hnms .

Required Parts

&

DRA-0058
Bolt (PH/M 20X6) o

DRB-0004

Universal Plate

PH/M 2.0X6

PH/M 2.0X6 1:1 SCALE

(o 72

PH/M 2.0X6




7DOF Dump truck HOVIS

Required Parts

PH/M 2.0X6
% Please pay attention to the shape of circled parts

when assembling battery holder. If the holder is PH/M 2.0X6
installed upside down, the battery cannot be
fixed firmly and may fall off during the operation.

\

QUL
R “,

o

DRA-0058
Bolt (PH/M 2.0X6) @

S
o
I

Wiy,

o DRJ-0001
L-type Joint @
(Single Nut)

PH/M 2.0X6

PH/M 2.0X6

DRB-0001

DRB-0007

Battery Holder lea

1:1 SCALE

6mm
|

e

)

PH/M 2.0X6

Dongbu Robot www.dongburobot.com



Assembly Manual for Application Models of HOVIS Lite

PH/M 2.0x6

PH/M 2.0x6

BH/T 2.6X8

% Make sure to follow the assembly
seqguence in correct order.

HUWS Lite

DRS-0101

HerkuleX Servo

7

DRA—-0058
Bolt (PH/M 2.0X6)

N

DRA-0067
Bolt (BH/T 2.6X8)

DRH-1001

Horn (Plastic)

) 4

DRJ-0001
L—-type Joint
(Single Nut)

1

PH/M 2.0x6

8 |

I

BH/T 2.6X8



7DOF Dump truck HUWS -

Required Parts

&

DRA-0058
Bolt (PH/M 20X6)

DRB-0004 (9%

Universal Plate

1:1 SCALE

@Mﬁmm} ,,,,,,

PH/M 2.0X6

PH/M 2.0X6 1

PH/M 2.0x6




7DOF Dump truck HOVIS tte

Required Parts

DRA-0056
Bolt (PH/M 2.0x4) @

DRJ—-0002
L-type Joint
(Double Nut)

DRB—-0004

Universal Plate

PH/M 2.0x4

PH/M 2.0x4.

1:1 SCALE

4mm ‘
mwwm

PH/M 2.0x4




7DOF Dump truck

L-type Joint
(Single Nut)

L-type Joint
(Single Nut)

PH/M 2.0X13

PH/M 2.0X13

HDWS Lite

PH/M 2.0X13

PH/M 2.0X13

% Assemble another set(ID 5) in the same manner. (Total 2 sets to be assembled.)

Required Parts

DRS-0101
HerkuleX Servo @

DRA-0054
Bolt (PH/M 2.0X13) @

DRJ-0001
L—type Joint @
(Single Nut)

DRJ—0003

L-type Joint
(Hole only)

1:1 SCALE

13mm

PH/M 2.0X13



Assembly Manual for Application Models of HOVIS Lite Hﬂm S Lite

S

DRA-0058
Bolt (PH/M 2.0X6)

i

DRA-0003

Harness (100mm)

O

DRA-0006

Harness (200mm)

Harness
200mm

PH/M 2.0X6

PH/M 20%6 ‘

PH/M 2.0X6

PH/M 2.0X6

6m

(g T2

PH/M 2.0X6

m



7DOF Dump truck HOVIS \

Required Parts

&

DRA-0058
Bolt (PH/M 2.0X6)

DRB-0001 @

1:1 SCALE

6mm ‘
jz ,,,,,,

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0X6
PH/M 2.0X6
PH/M 2.0X6

PH/M 2.0X6




7DOF Dump truck HOVIS \

Required Parts

DRA-0058
Bolt (PH/M 2.0%6) @

PH/M 2.0X6
PH/M 2.0X6

PH/M 2.0X6
PH/M 2.0X6

DRA-0059
Bolt (PH/M 2.0X8) @

DRJ-0001
L-type Joint 2ea

(Single Nut)

PH/M 2.0x8

%

DRJ-0006
I-type Joint
(12.5mm, Double Nut)

3

DRB—-0004

Universal Piate. ok

PH/M 2.0x8

1:1 SCALE

6mm

—
{ P 7o
PH/M 2.0X6

- 8mm ‘

{ gy 72

PH/M 2.0x8

% Assemble another set in the same manner. (Total 5 sets to be assembled.)




7DOF Dump truck HOVIS

Required Parts

DRA-0058
Bolt (PH/M 2.06)

DRJ-0006
I-type Joint

(12.5mm, Double Nut)

DRB-0004 [y

Universal Plate

PH/M 2.0X6

PHIM 2076 1:1 SCALE

Bmm
—
{ o >

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0X6

% Assemble another set in the same manner. (Total 2 sets to be assembled.)

www.dongburobot.com

26

* Dongbu Robot




7DOF Dump truck HOVIS tte

PH/M 20%6 Required Parts

PH/M 2.0X6

PH/M 2.0X6
PH/M 2.0X6

DRA-0058
T e o

PH/M 2.0X6

CPHM20X6

DRJ-0006
|-type Joint
(12.5mm, Double Nut)

1:1 SCALE

Bmm |
(7

PH/M 2.0%6

PH/M 2.0X6
PH/M 2.0X6

PH/M 20X6 PH/M 20%6

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0X6
PH/M 2.0X6

www.dongburobot.com

* Dongbu Robot



7DOF Dump truck HUWS -

PH/M 20%6 Required Parts

PH/M 2.0X6

PH/M 2.0X6 _ @

DRA-0058
Bolt (PH/M 2.0X6)

1:1 SCALE

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0X6

PH/M 2.0X6




7DOF Dump truck HOVIS “t

Required Parts

PH/M 2.0X6 DRA-0058
Bolt (PH/M 2.0X6)

PH/M 2.0X6

1:1 SCALE

6mm ‘
(7

PH/M 206

PH/M 2.0X6

4

PH/M 2.0X6




7DOF Dump truck HUWS -

Required Parts

PH/M 2.0 PH/M 2.0X6

DRA-0051
Nut (M2)

DRA-0058
Bolt (PH/M 2.06) @

.

DRB-0011
U4—type Bracket

RH/M 2.0X6

1:1 SCALE

PH/M 2.0X6



Hnms Lite

7DOF Dump truck

Required Parts

DRB—-0007
Battery Case

D

DRL-0728
7.4V Li-Po Battery

(3,000mA)

XE!]I!"D'JBH




7DOF Dump truck

PH/T 20X5
PH/T 2.0X5

PH/T 2.0X5

o

Hnms Lite

PH/M 3.0x8

Required Parts
DRA-0062
Bolt (PH/M 3.60X8) @

DRA-0064
Bolt (PH/T 2.0X5)

DRJ-0011
Bushing Set @

1:1 SCALE

Smm
(PRl
} emm



7DOF Dump truck HOVIS “t




7DOF Dump truck Hﬂws Lite

BH/T 2.6X8

BH/T 2.6X8

Required Parts

W

DRA-0067
Bolt (BH/T 2.6X8) @

DCW-0001
Wheel (White, @60) @

1:1 SCALE

wm} 6mm

BH/T 2.6X8



7DOF Dump truck Hnws -

Required Parts

L4

DRA-0056
Bolt (PH/M 2.0x4) @

PSD Sensor

Cable

IR Receiver
Cable

=

DRC—005T

Controller

PH/M 2.0x4

PH/M 2.0x4

PH/M 2.0x4

IR Receiver
Cable

PH/M 2.0x4

PSD Sensor
Cable



7DOF Dump truck HOVIS

IR Receiver PSD Sensor
Cable Cable

Completion




7DOF Dump truck HOVIS “t

Harness
200mm

Right Harness

Battery 100mm

Cable

Completion




